4-)5.58% =
@ 4 H7 (%41 4-M5x0.8*6L B P 10%19.5L 12 11,65 3.5

= .ﬁvﬁ

8-M3x0.5*8L

- T ] — T = /
ol jl ” |: @ @ j * 1 o B,,,;—i— P.C.D.=Q 40 :
| O \©/ 0 | O — -
- o 5
3 & 2 1 O g
1)
S\
G} ) T ] I:_ ~ - . 2
Eg) (©) ] o { (© P S s
| BH= 7 i | - 08
[ P
-
T 0]
ssassa) | / ) Lsmsara
2-M2.5x0.45*4L @4 H7 (8°"FaL 2-M3x0.5*5L 4-M4x0.776L
160 54
38
2-M2.5x0.45*5L 18
(WIHE)
[T ] _E‘ i
— ] 2
I: Q ] — ™ 8
43 =L N
o i BN Bl |
| H— - | T \..zﬁ_:
2 - 100 Y o
10 150 59
219 (76.2)
(FMO755A)
— B N E BNI U EE A & BHEEE AKRRBIGLREHR B GKA3360-50
RY&E | &£ #@mNT { e B H FHER RESH B
045:13 005 MEMT: o |KE B#[20221/18| # & [RE#R®E| 1 /A % | BEIXHR AR -GKA3360-50
16 ~ 68 it00.-017 BiE / BiE AT =M Http://www.gmtglobalinc.com | # fZ IH N/A 2% | GKA3360-50-120-PHO-XXXXX|
68 ~ 250 | 0.2 FERESEERBABLS (= «~ | o BERY| A3 #R
250 ~ 1000 | 0.3 iy — B ¥ @E:} .
1000 ~ 1500 0.5 TEL:886—4—768‘839:2F7M 1;:?5!;%97%@3& INE. 7 Bl o1 | EE ‘ 1064.09 N N/A



http://www.gmtglobalinc.com

	GKA3360-50-12口-P口-XXXXX-網站用圖
	工程視圖21
	工程視圖23
	工程視圖24
	剖面視圖 A-A
	工程視圖25


